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QUESTION 1

You are designing an automation solution that you will use across both on-premises and cloud-based NetApp ONTAP
systems. You want a single automation solution for both locations to reduce the administrative overhead. In this
scenario, which two automation tools would you use? (Choose two.)

A. Ansible

B. Rest API

C. ARM

D. CloudFormation

Correct Answer: BC

QUESTION 2

You must consolidate your branch office Microsoft Windows file servers Into the cloud with the objective to centralize ail
Microsoft Windows file shares (SMB) into your Active Directory domain. After analyzing your unstructured data set, you
find that 10% of the data Is active and 90% of your data is archive data. You deploy NetApp Cloud Volumes ONTAP in

Microsoft Azure and enable data tiering to tier off data to object storage, leaving all the defaults for the capacity tier.

In this scenario, by default, which storage class is used for your archive data?

A. nearline storage class

B. cool storage tier

C. hot tier

D. coldline storage class

Correct Answer: B

QUESTION 3

You are planning a migration of a single 500 TB workload into NetApp Cloud Volumes ONTAP starting with 10 TB and
gradually increasing the amount hosted in the cloud. You believe that 80% of the data is cold and will be tiered using
data tiering. The most important factor is to minimize the number of licenses as your footprint grows.

Which two licensing options would minimize the cost of the licenses in this scenario? (Choose two.)

A. Purchase a PAYGO license from the cloud marketplace for the initial footprint, and then use in-place conversion to a
BYOL license.

B. Purchase a PAYGO license from the cloud marketplace for the initial footprint, and allow it to grow as your Cloud
Volumes ONTAP instance grows.

C. Purchase a BYOL license for the initial footprint, and then stack additional BYOL licenses when you reach capacity
on the initial license.
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D. Purchase a single BYOL Cloud Volumes ONTAP license for the Initial footprint, and then deploy a new Cloud
Volumes ONTAP instance for each additional migration.

Correct Answer: BC

QUESTION 4

You must configure data replication between a NetApp Cloud Volumes ONTAP system in AWS and a
In this scenario, what is a cost-effective way to accomplish this goal?

A. Set up an Internet gateway on the AWS VPC that is hosting the Cloud Volumes ONTAP instance.
B. You must configure ExpressRoute and Direct Connect with your on-premises data center.

C. You must allow NetApp Cloud Manager to configure the network communication between the working environments
during the cluster peering setup wizard.

D. You must configure a VPN connection between the AWS VPC and the Azure VNet.

Correct Answer: C

QUESTION 5

You are sizing a new Azure NetApp Flies deployment and are documenting the throughput limit calculations within the
design. In this scenario, which two factors are used to accomplish this task? (Choose two.)

A. the quota that is assigned to the capacity pool
B. the service level of the capacity pool

C. the service level of the volume

D. the quota that is assigned to the volume

Correct Answer: AB
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